EXVRB2321

Click highlighted text for 2300 psi @ 2gpm

Pump Breakdown

Part Number .......ccvviiininssnnnnnenenennnnnnnnnn Description
Pump Information: D22306.......ccccoceeeeinennns DeVilbiss Pump Kit, Radial
16848 e Thermal Relief Valve
Engine Information: 12H8122324D1A1096............... Engine, B&S, 6 HP
BOBB77 e s Fuel Tank
491588 . Air Filter
16255 ... Qil, Engine (200z)
Frame Information: D22300....cuueieeeeeeeeeeeeeeeee e Frame
D222688.....cccce e Foot
D22316....cccieeeeeeeereee e Handle, Bagged
D227 7T e Accessories Panel
D22275 e Tire, 8”
D22303.... . Engine Base
D21630... e Pump Shroud
D22206 ... Axle
D223B05...ueeeeieeeeereeeeee e Wheel Bracket
Hardware Information:
Wheel to Axle:
LT 2N Pal Nut (2)
Foot: D22907 ..o, Screw, 1/4-20 x 1.125
Engine to Frame: 16087 (LY 3) cvveerreeeeeeeeeeeeerneee Flange Head Nut
F196 (qty 2) ..ceveennneee HHC Screw, 5/16-18 x 1-1/2”
F101 (qty 1)....... Screw, 5/16-18 x 2-3/4” HxHdACp
Engine to Pump [ 22 O Screw, 5/18-24 x 3/4”
Pump Shroud to
Engine Base D22308.......ceeeeeieeieeeeeee Screw, 5/16-18 x 2 (4)
D22692.......coee oo Nut, 5/16-18 (4)
Handle to Frame:
[ N Y e N Knob (2)
@ D23196..ccuiiieeeieieieieeeeeeeee e, Saddle Bolts (2)
Accessories Panel
to Frame:
D229071 ..o, Screw, 1/4-20-1.125 (4)
Accessory Information: D22166......ceeeeeeeenens Hi Pressure Hose, 1/4” x 25ft
ADBT20 ..ot Wand/Mult-Reg
17780 e Trigger Gun, 22 mm
@ H140. e, Chemical Hose
@ NCTOOT .. Cleaning Tool
@ 16797 .o Allen Wrench
Manual Information: @ D223B22 ... Manual, General-
...................................................... English/Spanish
V15985 ..o Manual, Engine

@ Included in Bagged Parts
v Included in Bagged Handle

* Included in Pump Kit

PARTS AND SERVICE
M&S SERVICE CO. INC - 800-475-5660


http://shoppingcart.msservicecompany.com/msservice_net/product_files/D22306/D22306.pdf
Will Hough
Highlight

Will Hough
Callout
Click highlighted text for Pump Breakdown




